
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 8,514,370,577   1= ljb]zL d"b|f / ;]So"l/^L 426,651,359,000

2= rng rNtLdf /x]sf] gf]^ 418,136,988,423

hDdf lgisflzt gf]^ 426,651,359,000

hDdf bfloTj 426,651,359,000   hDdf ;DklQ 426,651,359,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 8,514,370,577
2 ;fwf/)f hu]*f sf]if 21,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 17,552,394,791
4 ljsf; sf]ifx? 18,951,284,991   4  ljb]zL a}+s df}Hbft 98,370,798,586
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 160,114,240
6 ;^xL ;lds/)f sf]if 82,574,493,598   6  ljb]zL a)* 130,496,223,878
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 61,508,385
9 lgIf]k      -v_ ljb]zL 306,870
   -s_ g]kfn ;/sf/ 252,228,957,999   8  nufgL
   -v_ afl)fHo a}°x? 118,819,574,820      s= ljb]zL ;]So"l/^L 278,989,987,044
   -u_ ljz]if lgIf]k 19,250,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 36,110,478,095
   -#_ cGo 39,805,422,015      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,548,585,870
10 e"QmfgL lbg"kg]{ lan 246,450,151      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj 1,000,000,000   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,769,636,572      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 38,626,424,430      v= jfl)fHo a}+sx?nfO{ 7,566,012,125

     u= ljQLo ;+:yfx?nfO{ 504,645,119
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 3,998,486,422
  10 ;"g df}Hbft 1,637,110,758
  11= cGo ;DklQ 30,975,112,475

hDdf OSjL^L tyf bfloTj 618,517,135,234   hDdf ;DklQ 618,517,135,234
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